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5 oo S L A )
=% SJG-FEAI13 SESFYE— M—4P10T2SJG 17&§$%§E§é‘?&{%ﬁ”ﬁ*%£ 0.55 0.12 05 0.007
YL,
3 o NG W4 )
=% SJG-FEA53 SESFYE— M—4P10T2SJG 17&§$%§E§£§;{%ﬁ”ﬁ*%£ 0.55 0.12 05 0.007
YL,
3 o NG W )
=% SJG-FEB73 SESFYE— M—4P10T2SJG 17&§$%§E§$&{%ﬁﬂﬁ*%£ 0.55 0.12 05 0.007
— _ < 2= M—6R10T2LKG 21 FEAEZRFRAL Y 10WE R
=% QDG-FUSOVY AT M—6R10T3LKG MO FRYET0WERIL L 038 010 06 0.008
e ~ < 2= M—6R10T2LKG 21 FEAEZRFRAE Y 10%E R
=% QKG-FUsOVY AT M—6R10T3LKG MO FRYE10ERIL L 038 010 00 0.008
e ~ < 2= M—6R10T2LKG 21 FEAEZRFRAE Y 10%E R
=% QKG-FUSAVY A3 M—6R10T3LKG MO FRYET0WERIL L 038 010 06 0.008
M—6R10T2LKG
I ~ < 2= M—6R10T3LKG 2 FREZREAL 1 0K R
=% QKG-FU54VZ AES M—BR10TALKG N AR E 1 OHE TR <L 0.38 0.10 0.6 0.006
M—6R10T5LKG
M—6R10T2LKG
. ~ < 2= M—6R10T3LKG 2V FEAEERFRAL Y1 00K R
=% QKG-FU55VZ 55 M—BR10TALKG NS TR OHERL < L 0.38 0.10 0.6 0.006
M—6R10T5LKG
M—6R10T2LKG o .
=% QDG-FV50VX 5FS M—6R10T3LKG ;ﬁ%ﬁﬁfﬁﬁg%‘&ﬂaﬁ 0.38 0.10 0.6 0.006
M—6R10T4LKG * VSR
M—6R10T2LKG o .
=% QKG-FV50VX 5FS M—6R10T3LKG ;ﬁ%ﬁﬁfﬁﬁg%‘&ﬂaﬁ 0.38 0.10 0.6 0.006
M—6R10T4LKG * VSR
M—6R10T2LKG o o
=% QDG-FV50VY 5FS M—6R10T3LKG ;ﬁ%ﬁﬁfﬁﬁg%‘&ﬂaﬁ 0.38 0.10 0.6 0.006
M—6R10T4LKG * VSR
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M ORFIRME10%ERIL NI
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0.38
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2 ERAEZTERE Y 10%E
M ORFIRME10%ERIL NI

0.38
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0.38
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,S\% 5
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2 ERAEZTERE Y 10%E
M ORFIRME10%ERIL NI

0.38
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,S\% 5
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M—6R10T3LKG

21 ERAEZFERE Y 10%E
N ORI FIRME10%ERIL NI

0.38
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M—6R10T2LKG
M—6R10T3LKG

2 ERAEZTERE Y 10%E
M ORFIRME10%ERIL NI

0.38

QKG-FS50VZ

,S\% 5

M—6R10T3LKG
M—6R10T4LKG

2 ERAEZTERE Y 10%E
M ORFIRME10%ERIL NI

0.38

R

QKG-FSb54VvZ
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M—6R10T2LKG
M—6R10T3LKG
M—6R10T4LKG
M—6R10T5LKG

N EEERRERE Y1 0%
ORI FIRE10%ERIL I

0.38
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AED

M—6R10T2LKG
M—6R10T3LKG
M—6R10T4LKG
M—6R10T5LKG

2 ERAEZTERE Y 10%E
MORFIRYE10%WERL N IL

0.38
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,S\% 5

M—6R10T4LKG
M—6R10T6LKG

2 ERAEZTERE Y 10%E
MORFIRYE10%WERL N IL

0.38

NMHC NOx PM
0.10 0.6 0.006
0.10 0.6 0.006
0.10 0.6 0.006
0.10 0.6 0.006
0.10 0.6 0.006
0.10 0.6 0.006
0.10 0.6 0.006
0.10 0.6 0.006
0.10 0.6 0.006
0.10 0.6 0.006
0.10 0.6 0.006
0.10 0.6 0.006
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e _ < 2= M—6R10T4LKG 21 FEAEERFRAE Y 10%E R
=% QKG-FP54VER AES M—BR10TELKG N AR OME TR <L 0.38 0.10 0.6 0.006
e _ < 2= M—6R10T4LKG 21 FEAEZRFRAE Y 10%E R
=% QKG-FP54VGR AES M—BR10TELKG N AR B OME TR <L 0.38 0.10 0.6 0.006
e ~ < 2= M—6R10T6LKG 21 FEAEZRFRAL Y 10%E R
=% QDG-FV50VJR AES M—BR10TTLKG N AR OME TR <L 0.38 0.10 0.6 0.006
— _ <= _ M-6M60T1SDG 21 FEAEERFRAE Y 10%E R
=% TKG-FKTIF ATI7748 M-6M60T3SKG AOR FARME 1 OWERL AN IL 040 010 06 0.008
M-6M60T1SDG s e —
=% TKG-FK61F AEST7AH— M-6M60T2SDG ;ﬁ%ﬁfﬁ%g%‘gﬁaﬁ 0.40 0.10 0.6 0.006
M-6MB0T3SKG " VSR
— _ <= _ M-6M60T1SDG 21 FEAEZRFRAE Y 10WE R
=% TKGFKTAF ATI7748 M-6M60T3SKG AOR FARME 1 OWERL L 040 010 06 0.008
M-6M60T1SDG s —
=% TKG-FK64F AESIT7AH— M-6M60T2SDG ;ﬁ%ﬁﬁfﬁgg%‘gﬁa’i 0.40 0.10 0.6 0.006
M-6MB0T3SKG " T
e _ < 2= _ M-6M60T1SDG 2 FREZREALY 0K
=% TKG-FKoor ATI774S M-6M60T3SKG AOR FARME 1 OWE L L 040 010 06 0.008
e ~ 2= _ _ 21 FHAEERELL Y1 0WIE R
=% TKG-FK72FY AZE5T7144 M-6M60T1SDG o T RE 1 OWERL <L 0.40 0.10 0.6 0.006
. _ < 2= _ M-6M60T1SDG 2 FREZREALY 0K
=% TKG-FKo2FY ATI774% M-6M60T2SDG DK FRME 10HERL AL 040 010 06 0.008
. _ < 2= _ M-6M60T1SDG 2 FREZREALY1 0K
=% TKG-FKOSFY ATI774% M-6M60T2SDG DK FRME 10HERL AL 040 010 06 0.008
e 5 < z= _ _ NERERTREREY10%E R
=% QKG-FK72FZ AZE5T744 M-6M60T1SDG o T RE 1 OWERL <L 0.40 0.10 0.6 0.006
e _ < 2= _ M-6M60T1SDG 2 FREZREALY1 0K
=% QKG-FK62FZ SZEST7445 M-BMB0T2SDG AT E OB~ L 0.40 0.10 0.6 0.006
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BEa-BA BIRE FERM-BHX REICRIEE o NMHG O oM
=% QKG-FK65FZ AE3T7A8— m:gmgggggg ﬁz\ﬁﬁgﬁfjﬁéﬁﬁg‘gﬂ%ﬁ 0.40 0.10 0.6 0.006
=% QDG-FQ62F AE3T7A5— M-6M60T2SDG ;ﬁfﬁ%@gﬁﬁg‘&ﬁ%ﬁ 0.40 0.10 06 0.006
=% TPG-FBA0O ST3F v H— M—4P10T1SKG ;ﬁfﬁ%ﬁgﬁ&%‘&ﬁaﬁ 0.55 0.12 05 0.007
=% TRG-FBA0O ST5F v HA— M—4P10T1SKG ;ﬁﬁgﬁfjﬁﬁgﬁ%‘&ﬁaﬁ 0.55 0.12 05 0.007
=% TKG-FBA20 SEIFYA— M—4P10T2SKG ;ﬁfﬁ%ﬁﬁg@%gﬁaﬁ 0.55 0.12 05 0.007
=% TPG-FBA20 ST5F v H— M—4P10T2SKG ;ﬁfﬁ%@gﬁ&%‘gﬁaﬁ 0.55 0.12 05 0.007
=% TKG-FBA30 ST5F v HA— M—4P10T4SKG ;ﬁfﬁﬁfﬁﬁﬁg‘&ﬁaﬁ 0.55 0.12 05 0.007
=% TKG-FBA60 AT5F v H— M—4P10T4SKG ;ﬁfﬁﬁfﬁﬁﬁg‘&ﬁaﬁ 0.55 0.12 05 0.007
=% TPG-FBA60 AT3F v H— M—4P10T4SKG ;ﬁfﬁﬁ;ﬁ&%‘&ﬁaﬁ 0.55 0.12 05 0.007
=% TPG-FDA0O ST5F v H— M—4P10T1SKG ;ﬁfﬁﬁ;ﬁ&%‘&ﬁaﬁ 0.55 0.12 05 0.007
=% TRG-FDA0O ST5F v HA— M—4P10T1SKG ;ﬁfﬁﬁfﬁﬁﬁg‘&ﬁaﬁ 0.55 0.12 05 0.007
=% TKG-FDA20 SEIF v A— M—4P10T2SKG ;ﬁﬁgﬁﬁfﬁﬁ@%gﬁaﬁ 0.55 0.12 05 0.007
=% TPG-FDA20 AT5F v HA— M—4P10T2SKG ;ﬁfﬁﬁfﬁﬁﬁg‘&ﬁ%ﬁ 0.55 0.12 05 0.007
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BB EHha REAMN-EL RIEIROEE co | NMHC | NoOx PM
=% TKG-FDA40 SAEIFYUE— M—4P10T2SKG ﬁz\ﬁﬁgﬁfjﬁgﬁg‘&ﬂ%ﬁ 0.55 0.12 05 0.007
=% TPG-FDA40 SAEIFYUE— M—4P10T2SKG ﬁz\ﬁﬁgﬁfjﬁﬁﬁg‘&ﬂ%ﬁ 0.55 0.12 05 0.007
=% TKG-FEA20 SAEIFYUE— M—4P10T2SKG ;ﬁfﬁfjﬁﬁ&%‘&ﬂ%ﬁ 0.55 0.12 05 0.007
=% TPG-FEA20 SAEIFYUE— M—4P10T2SKG ;ﬁfﬁfjﬁﬁ&%‘&ﬂaﬁ 0.55 0.12 05 0.007
=% TKG-FEB20 ATESFvA— M—4P10T2SKG ;ﬁfﬁ%ﬁﬁg@%gﬁaﬁ 0.55 0.12 05 0.007
=% TPG-FEB20 SAEIFYUE— M—4P10T2SKG ;ﬁfﬁ%ﬁgﬁ&%‘&ﬂaﬁ 0.55 0.12 05 0.007
=% TPG-FEB50 SE3F Y A— m:jﬁl 8;2@&2 ;ﬁfﬁﬁ;ﬁﬁg‘&ﬁaﬁ 0.55 0.12 05 0.007
=% TKG-FEA80 SE3F v A— M—4P10T4SKG ;ﬁfﬁﬁ;ﬁ&%‘&ﬂaﬁ 0.55 0.12 05 0.007
=% TPG-FEA80 AEIFYUE— M—4P10T4SKG ;ﬁfﬁﬁ;ﬁ&%‘&ﬂaﬁ 0.55 0.12 05 0.007
=% TKG-FEB80 SES3FvUH— m:jﬁl 8%3&3 ;ﬁfﬁﬁ;ﬁﬁg‘&@%ﬁ 0.55 0.12 05 0.007
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BB EHha REAMN-EL RIEIROEE co | NMHC | NoOx PM
=% TKG-FEC90 AEIFYUE— M—4P10T6SKG ;ﬁfﬁ%ﬁgﬁ&%‘&ﬁ%ﬁ 0.55 0.12 05 0.007
=% TPG-FEC90 AEIFYUE— M—4P10T6SKG ;ﬁfﬁ%ﬁgﬁ&%‘&@%ﬁ 0.55 0.12 05 0.007
=% TKG-FGA20 ASATESFvE— M—4P10T2SKG ;ﬁfﬁ%@ﬁg@%gﬁaﬁ 0.55 0.12 05 0.007
=% TPG-FGA20 SAEIFYUE— M—4P10T2SKG ;ﬁfﬁﬁ;ﬁ&%‘&@%ﬁ 0.55 0.12 05 0.007
=% TKG-FGB70 AEIFYUE— M—4P10T4SKG ;ﬁfﬁﬁ;ﬁ&%‘&@%ﬁ 0.55 0.12 05 0.007
=% TPG-FGB70 SAEIFYUE— M—4P10T4SKG ;ﬁfﬁﬁ;ﬁﬁg‘&@%ﬁ 0.55 0.12 05 0.007
=% TQG-FEA13 SEIF Y E— M—4P10T2SJG ;ﬁﬁgﬁﬁfﬁﬁ@%ﬁﬁaﬁ 0.55 0.12 05 0.007
=% TQG-FEA53 SEIFYE— M—4P10T2SJG ;ﬁfﬁﬁ;ﬁg@%%ﬁaﬁ 0.55 0.12 05 0.007
=% TQG-FEB73 SEIFYE— M—4P10T2SJG ;ﬁﬁgﬁﬁfﬁﬁ@%gﬁaﬁ 0.55 0.12 05 0.007
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=%  TDG-MMIGFH AZ3I7ATI—R M-6M60T2SDG ;ﬁfﬁ%@g’fﬁg‘gﬂaﬁ 040 0.10 06 0.006
=% QDG-MM96FH AFSI7OI—R M-6M60T2SDG ﬁ%ﬁ?ﬁ%@ﬁﬁ?&ﬁ%ﬁ 0.40 0.10 0.6 0.006
=% QKG-MP35FK AFSIT7ARE— M-6M60T2SDG ;ﬁfﬁ%ﬁgﬁ&%‘&ﬁaﬁ 0.40 0.10 0.6 0.006
=% QKG-MP35FM AFSIT7ARE— M-6M60T2SDG ;ﬁfﬁ%ﬁgﬁ&%‘&ﬁaﬁ 0.40 0.10 0.6 0.006
=% QKG-MP35FP AFSIT7ARE— M-6M60T2SDG ;ﬁfﬁ%ﬁgﬁ&%‘&ﬁaﬁ 0.40 0.10 0.6 0.006
=% QKG-MP37FK AFSTT7ARE— M-6M60T2SDG ;ﬁfﬁ%ﬁgﬁ&%‘&ﬁaﬁ 0.40 0.10 0.6 0.006
=% QKG-MP37FM AFSIT7ARE— M-6M60T2SDG ;ﬁfﬁﬁfﬁgﬁﬁg‘&ﬁaﬁ 0.40 0.10 0.6 0.006
=% TKG-MK27FH AZFILFAITA M-6M60T3SKG ;ﬁﬁgﬁﬁfﬁﬁg@%gﬁaﬁ 0.40 0.10 0.6 0.006
=% TPG-BE640G AFS50—4 M-4P10T6SKG ;ﬁfﬁﬁfﬁgﬁﬁg‘&ﬁaﬁ 0.55 0.12 05 0.007
=% TPG-BE640J AFS50—4 M-4P10T6SKG ;ﬁfﬁﬁfﬁgﬁﬁg‘&ﬁaﬁ 0.55 0.12 05 0.007
=% TRG-BE640J AFS50—4 M-4P10T6SKG ;ﬁfﬁﬁfﬁgﬁﬁg‘&ﬁaﬁ 0.55 0.12 05 0.007
=% QDG-MP35FM AFS5TI7ORE— M-6M60T2SDG ;ﬁfﬁﬁ;ﬁﬁg‘&ﬁaﬁ 0.40 0.10 0.6 0.006
=% QDG-MP35FP AFSTI7ORE— M-6M60T2SDG ;ﬁfﬁﬁ;ﬁﬁg‘&ﬂ%ﬁ 0.40 0.10 0.6 0.006
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— _ 2 M-4P10T2SKG 21 FEAEERFRAE Y 10%E R

=% TKGFBASO ATIFYVE M-4P10T4SKG MO FRYET10ERIL L 095 012 05 0.007

— _ 2 M-4P10T2SKG 21 FEAEZRFRAE Y 10%E R

=% TPGFBAS TRt M-4P10T4SKG MO FRYET10ERIL L 095 012 05 0.007

e _ s e _ 2 FREZREAL Y 0K

=% TPG-BE640E AF530—4 M-4P10T6SKG AT E 1 OHE L~ L 0.55 0.12 05 0.007

—— 5 B A vy 21 FEEERERAL Y1 0%E R

=% TKG-BSZIF24 SESFvL TKG-ZD30-9F24A oA AR 1OHERL AL 2.22 0.17 0.63 0.007

—— 5 B A vy 21 FEEERERAL Y1 0%IE R

=% TKG-BSZ2F24 STSFvE TKG-ZD30-9F24A oA AR 1OHERL AL 2.22 0.17 0.63 0.007
M—6R10T2QKG s 7o :

—e s 2= 2 FREZREALY 0K

=%  QKG-FUBOVY A2%F> M—6R10T3QKG P il 0.38 0.10 0.60 0.006
M—6R10T4QKG MO FRYET10WERIL L
M—6R10T2QKG s 72 :

—e s 2= 21 FREZREAL Y1 0K R

=% QPG-FU6OVY A2%F> M—6R10T3QKG P il 0.38 0.10 0.60 0.006
M—6R10TAQKG O FIRME 10BERL )L
M—6R10T2QKG s 7o :

—e < 2= 2 FREZREALY 0K

=%  QKG-FUB4VY A2%F> M—6R10T3QKG P il 0.38 0.10 0.60 0.006
M—6R10TAQKG MO FRYET0ERIL L
M—6R10T2QKG s 7o :

—e < 2= 2 FREZREALY 0K

=%  QPG-FUB4VY A2%F> M—6R10T3QKG P il 0.38 0.10 0.60 0.006
M—6R10TAQKG O FIRME 10BERL )L
M—6R10T2QKG T 5

— ~ < z= M—6R10T3QKG 21 FF R EERERAE Y1 0% R

=% QKG-FUB4VZ A2%F> M—6R10TAQKG o T RYE 1 OWERL <L 0.38 0.10 0.60 0.006
M—6R10T5QKG
M—6R10T2QKG T 5

— < z= M—6R10T3QKG 21 F R EE R IR Y1 0% R

=% QPG-FU64VZ A2%F> M—6R10TAQKG o T RE 1 OWERL <L 0.38 0.10 0.60 0.006
M—6R10T5QKG
M—6R10T2QKG A L OVE

— ~ . 2= M—6R10T3QKG 21 ZEERFEAL Y1 0%IE R

=% QKG-FUB5VZ A2%F> M—6R10TAQKG o T RE 1 OWERL <L 0.38 0.10 0.60 0.006
M—6R10T5QKG
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M—6R10T2QKG
=% QPG-FU65VZ S o) m :gs] gigig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
M—6R10T5QKG
=% QKG-FV60VX o) E EEE %Eggg ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QKG-FV60VY o) E EEE %Eggg ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QKG-FV60VZ S o) m :gs] gigig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QPG-FV60VZ S o) m :gs] gigig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QKG-FV64vZ S o) m :gs] gigig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QPG-FV64VZ o) m :gs] gigig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QKG-FYeovy S o) m :gs] gggig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QPG-FY6OVY S o) m :gs] gggig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QKG-FYB4VY S o) m :gs] gggig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QPG-FY64VY S o) m :gs] gggig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QKG-FSB4vY A5ED m :gs] gggig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
=% QPG-FS64VY S o) m :gs] gggig ﬁz\ﬁﬁ%ﬁ %ﬁgﬁﬂgﬁﬂ%\'ﬁ 0.38 0.10 0.60 0.006
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e ~ < 2= M—6R10T2QKG 21 FEAEZRFRAE Y 10%E R
=%  QKG-FS65VY A2%F> M—6R10T3QKG o T RE 1 OWERL AL 0.38 0.10 0.60 0.006
S _ < 2= _ 2 FREZREALY 0K
=% QPG-FSB5VY A2%F> M—6R10T3QKG o T RE 1 OWERL <L 0.38 0.10 0.60 0.006
e ~ s 2= M—6R10T3QKG 21 FEAEZRFRAE Y 10%E R
=%  QKG-FS60VZ A2%F> M—6R10TAQKG o T RE 1 OWERL <L 0.38 0.10 0.60 0.006
M—6R10T2QKG T 5
— ~ s 2= M—6R10T3QKG 21 F R EE R IR Y1 0% R
=% QKG-FS64VZ A2%F> M—6R10TAQKG o T RE 1 OWERL <L 0.38 0.10 0.60 0.006
M—6R10T5QKG
M—6R10T2QKG T 5
— ~ s 2= M—6R10T3QKG 21 F R EE R IR Y1 0% R
=% QPG-FS64VZ A2%F> M—6R10TAQKG o T RE 1 OWERL <L 0.38 0.10 0.60 0.006
M—6R10T5QKG
M—6R10T2QKG T 5
— ~ s 2= M—6R10T3QKG 21 FF R EE R IR Y1 0% R
=% QKG-FS65VZ A2%F> M—6R10TAQKG o T RYE 1 OWETRL <L 0.38 0.10 0.60 0.006
M—6R10T5QKG
M—6R10T2QKG T 5
— ~ s 2= M—6R10T3QKG 21 FF R EE R IR Y1 0% R
=% QPG-FS65VZ A2%F> M—6R10TAQKG o T RE 1 OWERL <L 0.38 0.10 0.60 0.006
M—6R10T5QKG
e ~ < 2= M—6R10T4QKG 21 FEAEZRFRAE Y 10%E R
=% QPG-FP64VDR A2%F> M—6R10TOQKG o T RYE 1 OWERL <L 0.38 0.10 0.60 0.006
e ~ < 2= M—6R10T4QKG 21 FEAEZRFRAL Y 10%E R
=% QPG-FPB4VER A2%F> M—6R10TOQKG o T RYE 1 OWETRL <L 0.38 0.10 0.60 0.006
e ~ < 2= M—6R10T4QKG 21 FEAEZRFRAL Y 10%E R
=% QPG-FP64VGR A2%F> M—6R10TOQKG o T RE 1 OWERL <L 0.38 0.10 0.60 0.006
e ~ < 2= M—6R10T7QKG 21 FEAEZRFRAE Y 10%E R
=% QKG-FV60VJR A%F> M—6R10T8QKG o T RYE 1 OWERL <L 0.38 0.10 0.60 0.006
—z _ T 2= _ 2 FREZREALY 0K
=% QKG-FV64VJR A2%F> M—6R10T8QKG o T RE 1 OWERL <L 0.38 0.10 0.60 0.006




REICHRIAENEDHHENIE

JEO5E—F (g/kWh)

e

BHa-BK B4 ZFEAM-EH REICHRLIEE
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QPG-FV64VJR ) M—6R10T6QKG ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.38 0.10 0.60 0.006
TKG-FDAG0 SESIFv— M—4P10T4SKG ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.55 0.12 0.5 0.007
TPG-FDAG0 SESIF v A— M—4P10T4SKG ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.55 0.12 0.5 0.007
TKG-FDA50 SESIF v A— M—4P10T4SKG ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.55 0.12 0.5 0.007
TPG-FDAS0 SESIF v A— M—4P10T4SKG ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.55 0.12 0.5 0.007
TKG-FGA50 SESIF v A— M—4P10T4SKG ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.55 0.12 0.5 0.007
TPG-FGAS0 SESIF v — M—4P10T4SKG ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.55 0.12 0.5 0.007
QKG-FP64VDR ) m:gs:‘l 8$gg§g ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.38 0.10 0.60 0.006
QKG-FP64VER ) m:gs:‘l 8$gg§g ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.38 0.10 0.60 0.006
QKG-FP64VGR ) m:gs:‘l 8$gg§g ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.38 0.10 0.60 0.006
QKG-FU60VZ ) M—6R10T3QKG ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.38 0.10 0.60 0.006
TDG-MM97FH AFSIIF7AOI—XR M-6M60T2QKG ﬁ%ﬁfﬁfﬁéﬁﬂggﬂ%ﬁb 0.40 0.10 0.60 0.006
QDG-MM97FH AFSIIF7AOI—X M-6M60T2QKG 215 AR REAE Y 1 O%E L 0.40 0.10 0.60 0.006
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=% QKG-MP38FK AFSITF7ARS— M—6M60T2QKG ﬁz\ﬁfﬁﬁfﬁﬁ%gﬂggﬂ%ﬁb 0.40 0.10 0.60 0.006
=% QKG-MP38FM AFSITF7ARS— M—6M60T2QKG ﬁz\ﬁfﬁﬁfgﬁgaﬁgj&@%\;;ﬁb 0.40 0.10 0.60 0.006
== QPG-FU60VZ ASFS M—6R10T3QKG ﬁz\ﬁﬁgﬁﬁfgf&%ﬁﬁ%\;i 0.38 0.10 0.60 0.006
== QPG-FV60VY ASFS m :gs:‘l 8$ig§g ﬁz\ﬁfﬁﬁfgﬁgaﬁgj&@%\;;ﬁb 0.38 0.10 0.60 0.006
== QPG-FS60VZ ASFS m :gs:‘l 8$ig§g ﬁz\ﬁfﬁﬁfgﬁgaﬁgj&@%\;;ﬁb 0.38 0.10 0.60 0.006




